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Section 2  Session 9

6 × 2	 =

7 × 5	 =

8 × 10	 =

9 × 5	 =

10 × 5	 =

8 × 10	 =

12 ÷ 2	 =

35 ÷ 5	 =

60 ÷ 10	 =

14 ÷ 2	 =

        × 5	 = 40

        × 2	 = 18

        × 10	= 70

How much are these worth?

five 2p coins

eight 5p coins

seven 10p coins

four 5p coins

six 2p coins

Share equally

40p between 5 people.

80p between 10 people.

35p between 5 people.

14p between 2 people.

90p between 10 people.
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        × 5	 = 25

        × 2	 = 16

        ÷ 2	 = 10

        ÷ 5	 = 6

        ÷ 10	= 10

        ÷ 5	 = 9

        ÷ 2	 = 6
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